



St. Louis County, Minnesota

Date of Report: 11/23/2024 3:09:37 AM

General Details

 Parcel ID:
 040-0206-00530

 Document:
 Abstract - 726056

 Document Date:
 06/10/1998

Legal Description Details

Plat Name: EVELETH

SectionTownshipRangeLotBlock335817--

Description: PARCEL 15 A TRACT OF LAND BEING THE W 163 FT OF E 1141 FT OF NW 1/4 OF SW 1/4

Taxpayer Details

Taxpayer NameKOTNIK JOSEPH J JRand Address:1809 STATION 44 RDEVELETH MN 55734

Owner Details

Owner Name KOTNIK JOSEPH J JR
Owner Name KOTNIK STELLA

Payable 2024 Tax Summary

2024 - Net Tax \$1,773.00 2024 - Special Assessments \$85.00

2024 - Total Tax & Special Assessments \$1,858.00

Current Tax Due (as of 11/22/2024)

Due May 15		Due October 15		Total Due	
2024 - 1st Half Tax	\$929.00	2024 - 2nd Half Tax	\$929.00	2024 - 1st Half Tax Due	\$0.00
2024 - 1st Half Tax Paid	\$929.00	2024 - 2nd Half Tax Paid	\$929.00	2024 - 2nd Half Tax Due	\$0.00
2024 - 1st Half Due	\$0.00	2024 - 2nd Half Due	\$0.00	2024 - Total Due	\$0.00

Parcel Details

Property Address: 1809 STATION 44 RD, EVELETH MN

School District: 2909
Tax Increment District: -

Property/Homesteader: KOTNIK, JOSEPH JR & STELLA

Assessment Details (2024 Payable 2025) **Class Code** Homestead Bldg Def Land Def Bldg **Net Tax** Land Total (Legend) Status **EMV EMV EMV EMV EMV** Capacity 201 1 - Owner Homestead \$29,800 \$111,900 \$141,700 \$0 \$0 (100.00% total) Total: \$29,800 \$111,900 \$141,700 \$0 \$0 1079





St. Louis County, Minnesota

Date of Report: 11/23/2024 3:09:37 AM

Land Details

Deeded Acres: 5.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: P - PUBLIC

Gas Code & Desc:

P - PUBLIC Sewer Code & Desc: Lot Width: 0.00 Lot Depth: 0.00

Lot Deptil.	0.00					
The dimensions show https://apps.stlouiscou	n are not guaranteed to b intymn.gov/webPlatsIfran	e survey quality. Ane/frmPlatStatPop	Additional lot	information can be here are any quest	e found at ions, please email Property	/Tax@stlouiscountymn.gov.
				etails (HOUSE		, run Generale 200 (190 (190 (190 (190 (190 (190 (190 (1
Improvement Typ	oe Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1963	1,19	90	1,190	U Quality / 0 Ft ²	RAM - RAMBL/RNCH
Segme	ent Story	Width	Length	Area	Found	ation
BAS	1	5	28	140	BASEN	MENT
BAS	1	14	30	420	BASEN	MENT
BAS	1	21	30	630	BASEN	MENT
DK	1	4	8	32	POST ON (GROUND
Bath Count	Bedroom	Count	Room C	ount	Fireplace Count	HVAC
1.0 BATH	3 BEDRO	OOMS	-		0	CENTRAL, GAS
		Improveme	nt 2 Deta	ils (DETGARA	GE)	
Improvement Typ	oe Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
GARAGE	2017	864	4	864	-	DETACHED
Segme	ent Story	Width	Length	Area	Found	ation
BAS	1	24	36	864	FLOATIN	G SLAB
		Improvem	ent 3 Deta	ails (POLEBLE	OG)	
Improvement Typ	oe Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
POLE BUILDING	g 2001	2,40	00	2,400	-	
Segme	ent Story	Width	Length	Area	Found	ation
BAS	1	40	60	2,400	FLOATIN	G SLAB
		Improvem	ent 4 Det	ails (SHIP COI	NT)	
Improvement Typ	oe Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDII	NG 0	144	4	144	-	-
Segme	ent Story	Width	Length	Area	Found	ation
BAS	1	8	18	144	POST ON (GROUND
		Improvem	ent 5 Det	ails (SHIP COI	NT)	
Improvement Typ	oe Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDII	NG 0	144	4	144	-	<u>-</u>
Segme	ent Story	Width	Length	Area	Found	ation

18

2 of 4

BAS

144

POST ON GROUND





St. Louis County, Minnesota

Date of Report: 11/23/2024 3:09:37 AM

		Improvem	ent 6 Details (SHIP CONT)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ² Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDIN	IG 0	14	4	144	-		-
Segmen	nt Story	/ Width	Length	Area	Founda	ition	
BAS	1	8	18	144	POST ON G	ROUND	
		Improvem	ent 7 Details (SHIP CONT)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ² Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDIN	IG 0	32	0	320	-		-
Segmen	nt Story	/ Width	Length	Area	Founda	ition	
BAS	1	8	40	320	POST ON G	ROUND	
		Improve	ment 8 Details	(14X16 ST)			
Improvement Type				s Area Ft ² Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDIN		22	4	224	-		-
Segmen	_	/ Width	Length	Area	Founda		
BAS	1	14	16	224	POST ON G	ROUND	
		Improven	nent 9 Details (Storage co)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ² Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDIN	IG 0	16	60	160	-		-
Segmen	nt Story	/ Width	Length	Area	Founda	ition	
BAS 1				160 POST ON GROUND			
	•	8 Sales Reported	to the St. Lou	is County Audito		ROUND	
	•	Sales Reported	to the St. Lou	is County Audito		SROUND	
No Sales informa	tion reported. Class Code	Sales Reported A	to the St. Lou	is County Audito	r Def Land	Def Bldg	
	tion reported. Class Code (Legend)	Sales Reported As Land EMV	to the St. Lou ssessment His Bldg EMV	is County Audito story Total EMV	Def Land EMV	Def Bldg EMV	
No Sales informat	tion reported. Class Code (Legend)	Sales Reported A	to the St. Lou	is County Audito tory Total EMV \$139,400	Def Land EMV	Def Bldg EMV	Capacity -
No Sales informat	tion reported. Class Code (Legend)	Sales Reported As Land EMV	to the St. Lou ssessment His Bldg EMV	is County Audito story Total EMV	Def Land EMV	Def Bldg EMV	Capacity -
Year 2023 Payable 2024	tion reported. Class Code (Legend) 201	Sales Reported A: Land EMV \$29,500	ssessment His Bldg EMV \$109,900	is County Audito tory Total EMV \$139,400	Def Land EMV	Def Bldg EMV	Capacity -
Year 2023 Payable 2024	Class Code (Legend) 201 Total	As Land EMV \$29,500	ssessment His Bldg EMV \$109,900 \$109,900	Total EMV \$139,400 \$139,400	Def Land EMV \$0	Def Bldg EMV \$0 \$0	1,147.00
Year 2023 Payable 2024 2022 Payable 2023	tion reported. Class Code (Legend) 201 Total	Land EMV \$29,500 \$29,500	Bldg EMV \$109,900 \$109,900	Total EMV \$139,400 \$139,400	Def Land EMV \$0 \$0	Def Bldg EMV \$0 \$0	1,147.00
Year 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 201 Total 201 Total	Land EMV \$29,500 \$29,500 \$29,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$109,900	Total EMV \$139,400 \$139,400 \$139,400 \$139,400	Def Land EMV \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0	1,147.00
Year 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Class Code (Legend) 201 Total 201 Total 201	Land EMV \$29,500 \$29,500 \$29,500 \$22,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$109,900 \$75,500	Total EMV \$139,400 \$139,400 \$139,400 \$98,000	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0	1,147.00
Year 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 201 Total 201 Total 201 Total	As Land EMV \$29,500 \$29,500 \$29,500 \$22,500 \$22,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$109,900 \$75,500	Total EMV \$139,400 \$139,400 \$139,400 \$139,400 \$98,000 \$98,000	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	1,147.00
Year 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Class Code (Legend) 201 Total 201 Total 201 Total 201	As Land EMV \$29,500 \$29,500 \$22,500 \$22,500 \$22,500 \$22,500 \$22,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$109,900 \$75,500 \$75,500	is County Audito Story Total EMV \$139,400 \$139,400 \$139,400 \$139,400 \$98,000 \$98,000 \$98,000 \$98,000	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	1,147.00 - 1,147.00 - 1,147.00 - 696.00
Year 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Class Code (Legend) 201 Total 201 Total 201 Total 201	As Land EMV \$29,500 \$29,500 \$22,500 \$22,500 \$22,500 \$22,500 \$22,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$75,500 \$75,500 \$75,500	is County Audito Story Total EMV \$139,400 \$139,400 \$139,400 \$139,400 \$98,000 \$98,000 \$98,000 \$98,000	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	1,147.00 - 1,147.00 - 1,147.00 - 696.00
Year 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022 2020 Payable 2021	Class Code (Legend) 201 Total 201 Total 201 Total 201 Total 701 Total	Land EMV \$29,500 \$29,500 \$22,500 \$22,500 \$22,500 \$22,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$75,500 \$75,500 \$75,500 Tax Detail History	Total EMV \$139,400 \$139,400 \$139,400 \$98,000 \$98,000 \$98,000	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	1,147.00 - 1,147.00 - 1,147.00 - 696.00
Year 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022 2020 Payable 2021 Tax Year	Class Code (Legend) 201 Total 201 Total 201 Total 201 Total 701 Total	Land EMV \$29,500 \$29,500 \$22,500 \$22,500 \$22,500 \$22,500 \$22,500 \$22,500 \$22,500	Bldg EMV \$109,900 \$109,900 \$109,900 \$75,500 \$75,500 \$75,500 Tax Detail Histor Assessments	Total	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity





St. Louis County, Minnesota

Date of Report: 11/23/2024 3:09:37 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.